8 | 7 | 6 ] 5 4 4 3 2 1
THE INFORMATION CONTAINED IN THIS DRAWING 1S THE SOLE PROPERTY OF REVISIONS
ELECTRO MECHANICAL INDUSTRIES, INC. ANY REPRODUCTION IN PART OR WHOLE
WITHCUT THE WRITTEN PERMISSION OF ELECTRO MECHANICAL IND., IS PRCHIBITED. REV. OCN # DESCRIPTION BATE 8y APPROVED
1 DCNOOS511 UPDATED ASSEMBLY, WELDMENTS, PARTS AND HARDWARE 9.19.18 PCG M

4

@10%")

e

(15/46")
9 JAN

- (7A 3 ) - Tew | 20 FART NUMBER DESCRIPTION WEIGHT

t | 4 | w-001-003 |POLE CLAMP WELDMENT 6

e ~ B 2 | 3| w-001-031 |CPE POLE MOUNT 6.7

:ﬁ-_l o'__ln | _-ﬁ]: 3 | 1| W-001-032 |LONG CPE POLE MOUNT 15.4
g el el ST 4 | 12| P-002-451 |PIPE, 3/8 SCH. 80 X 1/2" 0.004

I 0()0 E“1—:: I, 5 | 3| P-002-454 |CLAMP BRACKET, 8 5/8" X & X 1/47 2
T = ey 6 | 24 | 002~ONG~0001 |NUT, HEX, .500=13UNC, GR 2H, GALV 0.06
1 : 7 | 16 | 002-0FW—G0D2 [WASHER, FLAT, .500", F436, GALV 0.02

1 8 | 16 | DD2—0OFW—G020 |WASHER, FLAT, .500", USS, GALV 0.04

14 v 9 | 12 | 002-0NG—0012 |NUT, HEX, .375—16UNC, GR 5, GALV 0.02

_ b ‘ 10 | 8 | 002—0AT—HAO1 |ROD, THREADED, .500—13UNC X 6.00 LG, ASTM A193 B7, GALY. | 0.205

© ) O|wm ce} * {h D 11| 8 | 002~08G~0011 |BOLT, .500~13UNC X 4.5" LG, ASTM A325, GALV. 0.29

o b jl - o 12| & | 002-000-2008 |S8,U=20LT, 375"=T6 X 46257, 4" 1D, ZING PLATED, WCH 5389

i ' 13 | 24 | 002-0FW—7021 |M5 FLAT WASHER, DIN 125, ZINC PLATED 0.00

e aE 14 | 24 | 002-0LW—Z020 M5 SPLIT LOCK WASHER, DIN 127 ZINC PLATED 0.00

Cr “ 15 | 12 | 002-0SZ0019 |BOLT, M5-.8x30LG ZINC PLATED 0.01

16 | 12 | 002-0SZ~0020 |BOLT, M5—.8x18LG ZINC PLATED 0.01

[) 17 | 3 | P-002-493 |ANTENNA BRACKET PLATE 2.7369

14 i, 18 | 12 | 002-0FW—Z007 |WASHER, FLAT, .38 INCH, ZINC PLD, STL 0.00

B L - 19 | 12 | 002-087-0024 |BOLT, HX HD, .375—16UNC X 1.5 LG, GR 5, ZINC 0.01

T — LS WISE : ey TLECTRO MECHANICAL [NDUSTRIES, 1t
L el

SEE PARTS LIST % 28 P. GUIIERREZ 82818 [
BEET 0 = | o uy, pwwen | e | CPE EQUIPMENT MOUNT
ot =2 | v | szve
e e RS, et | e [FRUO 00000200018 |7
APPLCATICNS BURNED =y SCAIE 10 | WEGHT: 84 Ibs, | stEmiors
8 7 6 E 5 t 4 3 ! 2 ! 1




1

1000-0020-0018

DRAWING 1O

SIZE

B

[seeT 2 oF 2

scaE 1910 |






